The dc component Vo of the output voltage is the average value of a half-wave rectified sinusoid
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The dc component of the current for the purely resistive load is " R @R

Average power absorbed by the resistor in half wave rectifier P = 12 s * R = V2,ms/ R. ( voltage and
current are half-wave rectified sine waves)
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steady-state current can be found from phasor analysis
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Adding the forced and natural responses gets the complete solution
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It is often convenient to write the function in terms of the angle wt rather than time.

i(wt) = |:Sln (wt— 0) + sin(B)e ‘”I/U’T]

Substituting wt = B, i(B)= %{sin(ﬁ —0)+ sin (ﬂ)e*lﬂ/uﬁ} =0

sin(B — 0) + sin(8)e /o7 =0
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The average power absorbed by the load is L. R, since the average power absorbed by the inductor is zero.
The rms value of the current is:

2
I \/ — z(wt)d(wt)—\/ / i*(of) d(wt)

Average current is
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